20184 10H27H {A# 3R C 2 — 2 64l

R C2—26# 20%&“ 59_1 l;s 7 @ ii%;%ﬁ#;ﬁ > 1&‘331 géﬁ' 857151157 455 69 454 61 ’i }
= o K . T R=1% | B RA R :
Y5ILy FR IRLLE B8 B4 L BF 1:25.5 L—25y J4EMA : SHH 162 SMH 94 SHM 82 MHH 81 Grart J
PEEE | PEEYR | BEXES F 3R HTE=RER }Eﬁa BigE GE, ¥.iE) B 2TE=L—R%& L—T1v9 95R 3iB= %IIE EH - BE - AR st
B F | BEAMME(H £r51238K SIAE - BT -RE 2, 3. AAEBIEN STE=HEM- I—X - BISRE SSL EANYS
26| B 2 |EdEs/Felf  4BUT ZHIIF - chil - #OF (HEL., WL, SELY) A3 F L REMRE 29-b~458 - 3 ~4F - 1{3F(5~1) +Y 3 FIREL
(& 8| Bow) ME | 2 5@ | 130085 |Bm E=iX gmg }gggm L—REYBFAAL - HBEOEYIFEAL > 0.5 DBAKTE MTH=1EEXE2EE (FE) 1. 2. SEEOWHE
EE/BE BAyX | BFRM | OTNAMM| M EeFR| #iy 1600: BiE IR E 3FERT AFERT SFERT
THLF ) o x—I 3| 14 T |EZ0242% | ¥=02425[18.10.07 12 & f& |18.09.29 14 & #& |[18.00.16 13 ¥ Jc& |18.08.31 14 & & |18.08.18 16 F I1E&
HUHA Y RER B 394-399 [#%4%0000 |F 0000|C2—26 2 ara’: sfﬁ 3% | 3m—74 3 |3m—6#4 3% ara’g—afﬁﬁ 3%
- 54.0 .270| fr 51-54 ®400.00 [ F=0000 |5 8EIBEIN 4 |9 1IN BM |9  10EE8H 6A 4 |7 108 1HSA B |7 93 1&SA BA
11 HAXo4> = | dLAtR #53 12516) | /h40.0.0.0 | FrH0.0.0.0 | 403 -4 8% 54 ©©® | 407 0 Qx%ﬁ 54  ©@O@O@| 407 +4 BB 54 @O | 403 +5 8% 54 GO | 398 +1 HMIE 54 @B@
(77RUT7) £8 173|575 12516) | 4 0.0.1.5 | F7X0.0.0.0 | 1300m & #§ 1:25:1 38.3 | 1300m & & 1:27:4 40.9 | 1300m & #§ 1:27:9 41.6 | 1300m & 7 1:26:8 40.6 | 1300m & B 1:27:4 41.2
PTG [5%]] 0242 |F0008 | 250242 |.--69-©@--|WH 30.4-37.1 332 (4) [HHH 38.4-30.2 232 (7) | HHH 38.8-38.9 311 (10) | NHH 39.2-30.0 322 (8) | NHM 30.4-40.5 423 (8
TREA 0.0.1.8 | #%250%£0580 [ £ 0.0.0.0 | $28 0104 | $7477(2.3) Kk #UIAR TA N (3. 4) PkEE | Y153/ (3. 8) Fsk |1 vk (2. 1) SEesksk | 9Y/4Es70 (1) Sk
EoTO9Y 53|18 ZE| A:::: [EF0109 |F=0007 |1810.14 13 & & |18.10.0/ 14 & {£& |18.09.29 15 & f#& [18.09.16 15 ¥ {£& |18.09.01 18 & H*%&E
293—FEa1—F kiR B 433-433 | 340000 |F 0000|C2—36 c2 |c2—28 2 | 3m—10 3 | 3m—9# 3% | 3m—84 3%
TEa 51.0 .160| fr 54-54 24 0.0.00 [ F=0000 [6 958 3% 6A 4 58 8% 4N K45 9E BTN s 8 108 2BION MW |4 1088 6F 4A
2 AN PN S 2 | PlIE #5#4 1250@ | /v40.0.0.0 | FH0.0.0.0 | 420 -2 AEE 54 ©B® | 422 -6 /MAYX 54 @DO) | 428 0 tik#E 51 @O | 428 +4 RBH 54 ©DOQ | 424 -9 BEK 54 ©©®
(9+—T2TLL) {EE . 126] 534 1250@) | 4 0.0.0.4 | F70.0.0.1 | 1300m % B 1:25:9 39.4 | 1300m % # 1:25:0 30.2 | 1300m % 2 1:25:5 38.7 | 1300m & #§ 1:27:0 40.8 | 1300m & 7 1:28:3 40.6
14 977~ [#][0.1.011 | %0005 [£4501010| -6 -@| HHH 38.7-39.4 324 (5) | HHH 38.3-38.6 243 (3) | MHH 39.0-38.3 243 (2) | HHM 37.9-39.9 213 (6) | HHM 39.0-40.5 334 (3)
SEHER 0.0.0.1 iomioﬁo £ 0.0.0.1 [ %1 005 | Wby 4=y (1.7) k%EZE | F47°v20(1.7) ke | HF7 2. 1) REE | P03 444V (2.9)  SekE | AN Ny (2.4) Sk
7 RRANL—> H3 22 R [EF 1002 | ¥=0002 [18.10.08 13 & {&E& | 18.09.29 23 E &R [ 18.09.17 15 ¥ fEA | 18.08.05 36 F 2@ua4d |18.06.17 37 & JEm6
TLAF I ITF WTH | % 485-485 | B4 0000 |F 0000 |C2-27 2 | FU—L 3 | 3@m—11 3% | RMF RESF| | RESF REFFI
= 56.0 .139| fr 56-56 #0000 | F=000.1 |4 95 2% AN A 1 105 3§ 2A 5 9mE 6% 5A 12 1588 1&14N &M | 16 1688 5&10A
K 3|o|s1%7z7LT 7 B’ | hBk B 1244@ [ N40.0.0.0 | FMH0.0.0.2 | 486 +1 HHE 56 @O | 485 -3 [ 56 D@ | 488 +6 /MAY 56 @D@ | 482 -2 KR 56 @@ | 484 +6 AEIE 56 ©QD
(B4 %% kL) B . 283[ ER 1244@ | A 1.0.0.1 [ F550.0.0.0 [ 1300m 4 B 1:24:4 39.6 | 900m 4 % 0:54:3 355 | 1300m & B 1:25:0 39.5|1200m # E 1:14.8 38,3 | 1400m # & 1:27.3 38.7
AREHE M)k [#]] 1.0.0.8 [ 1.004 [£41.007 |- -@D-®--|HIH 38.4-36.9 521 (8) | MMM 36.5 255 (1) | HHH 38.4-38.8 233 (5) [ MMM 34.6-37.2 153 (10) | MMM 35.4-36.8 332 (14)
HpE 0.0.0.0 | 05150580 | £ 0.0.0.1 | 28 0000 [ not -not’ -(2.9) k%= | 29" 17 by -h (0. % %E | 9812 (1.5) ML | byh 745(3.0) kK | 4 T/5(bv) Q2 =8
N=5—97F HaA| 14 B| ... |[EF1.005|F=0005 181007 12 & {&fs 18.09.24 15 ¥ f&& |18.00.09 12 ¥ k& |18.08.11 11 mi 18.07.31 13 & %A
SeLTUsY—IL R B 478-488 | 34 0.0.00 | F 0000 | C2—24 c2—-11 G2 |c2—-11 2 |c2—13 c2—-14 2
< - 56.0 .271| Fr 56-56 540000 | F=00.00 |5 958 5% TA 4 103 1&E5A ®/M |10 1058 5% 5A 8 93 5% 4N 7 9% 3FE 1A
4 YIAYHIS B | KBt B 1272@ | NA0.0.0.0 | FIE1.0.0.11| 482 -3 #4130 56 GG | 485 +9 #1130 56 @O@® | 476 +6 1AE 56 @@ | 470 -1 #4230 56 ®®®D | 481 +3 REE 56 @@
(Fo% %) £8 187 KB 1272@ | &4 1.0.0.5 | F750.0.0.0 | 1300m & #§ 1:27:5 39.5| 1300m # E 1:27:2 39.3 | 1300m & 7 1:29:0 40.5 | 1300m & & 1:29:5 40.8 | 1300m & B 1:27:8 41.9
ik e ) [#]] 2002 | %0006 [£420017| -®-@-®-|SHH 40.6-39.0 333 (6) | HHS 37.3-42.4 255 (1) | SHM 40.0-39.9 233 (5) | SNH 40.8-39.3 242 (6) | MHM 39.2-39.8 511 (9)
BRI 0.0.0.0 | 05220580 | £ 0.0.0.3 | 258 20010 [ " 5947 Yuth (1.6) sk | #9/7°1b4v (1. 4) HEE | MY39E(2.8) kB | 9 774 (2. T) kEE | AE)-94-2(2.5) B
FA—TAAA #4115 T - |EF0522% | ¥=023.07 |18.10.14 12 & 1%&E 18.10.08 14 & 4&3{ 18.09.11 14 = f&H [18.08.26 15 & 1&‘35 18.08.12 16 & 4&_’&
FAAINT VES B 423-431 | 7540000 | F 0000 |C2—36 c2 C c2—10 2 | FrLoo FyLoo
2 54.0 .209| fr 54-54 #0000 | F=0000 |8  9mE 58 9A 5 105 7§ 5A 5  10gE10% 3A kst (4 85E 3F 1A 2 9 IE 1A n
5[5 Ty rfVE—Va Y Z | XBA B 1256@ | N4 0.0.0.0 | FrE0.0.0.1 | 430 -5 A& 54 @@® | 435 +1 JIIEIE 54 ..@ 433 +4 Mt 54 Q@ [ 429 -2 Y&t 54 @O | 431 +3 HrEf 54 QDR
(Mr. Prospector) hE .138| {ER 1256@ | A 0.1.1.6 | F750.0.0.0 | 1300m 4 B 1:26:2 39.4 | 1300m 4 B 1:26:4 38.8 | 1300m & # 1:26:8 39.9 | 1300m & R 1:27:1 39.5|1300m & B 1:26:7 39.1
¥ob=y e v -LEREH (%] | 0.5.2.36 | £0.0.0.10 [ £405227 | -@9- - -®-| HiH 38.7-30.4 234 (5) | SHH 39.6-38.6 243 (3) | MHM 39.5-40.0 424 (8) | SHH 40.4-39.5 344 (4) | SMH 40.7-39.2 454 (1)
ZEEE 0.3.1.18 | #0%£520i80 | £ 0.0.0.8 | ®1:@ 05 1 14| byb 9 4+v-Y (2.0) 3ks%EE | ¥ ww19(1.9) HkEE | 7507(0.9) k55 | -7 4-2(0.6) ﬁ;ﬁ\‘: 21280 WA (0.2)  k%EE
FRERAXR VTR 5[ 16 B A: - |[EZ 13151 |T=0262]18101410 & & |18.10.08 12 & 1& 18.09.24 14 ¥ f&& | 18.00.11 13 S EE | 18.08.26 13 & &
A—1 RBH B 440-459 | %4 0.0.0.0 [F 0000 | C2—36 G2 |c2—23 FrLoo 2 |[c2—-10 2 | FyLoo c2
n ~ 54.0 .166| fr 51-54 #40.000 | F=0000 |7 958 4% 8A 5 1088 5% 5A 2 888 5% 6A 9 1088 9% 6A k4|7  BEE 8F 4N K4
() 6| A2l 5—%ysaTL— B | s B 1257@ | N4 0.0.0.0 | FEE1.1.1.10| 452 +1 HizkiE 51 ©OD | 451 +3 HikiE 51 ©O©O | 448 -3 tiskiE 51 ©@3 | 451 +2 RBE 54 ©B@WM | 449 -2 WAE 54 GBO®
(HYXIF49Y) B 126[ 5B 1257@ | A4 21.2.16 [ F550.0.0.0 [ 1300m 4 B 1:26:0 39.5 | 1400m & B 1:32:8 39.6 | 1400m & B 1:33:3 40.4 | 1300m # # 1:27:6 39.7 | 1300m # B 1:27:9 40.3
R [%] ] 23859 | %01.0.11 [ £42385 | -@5-@-@-|HiH 38.7-30.4 324 (8) | SHM 39.8-38.1 342 (6) | MMS 38.7-41.4 445 (1) | MHM 39.5-40.0 214 (7) | SHH 40.4-39.5 323 ()
TBHER 1.0.5.26 | #05£520580 | £320.0.0.3 | &8 123 Uyb 9 ab-y (1.8) kS | AT WA ybA-T" (2.9) wSESE | 4484 (0.1) Mz | 7507(1.7) ek | n-7 4-3(1.4) i ¥
B—RILRIL H3 |17 & - .. |[EZ0006|F=00071[18 10 14 12 1&'}6 18.10.07 11 & &R 18 09.29 14 B fEE [18.09.16 15 F {E& | 18.09.01 12 & {£E%
EV LA S RE0.000 | F 0000)C 0 FU—Ls @ | Fy—L & | Fu=as s& | Fy—4d &
56.0 .038 40000 | F=0.000 |4 eaé 3% 6A 9 g 6F OA 10 103 9§IOA Ao+ | 10 1288 4% 9A 10 105E10% 1A k5
1|7 DEE 2 E | @R B 12700 [ N4 0.0.0.0 | FIE0.0.0.1 | 472 +7 AEKE 56 ©O)| 465 -1 f1EM 56 @O | 466 +7 F1ETM 56 459 -4 REE 56 GO|463 -4 AEE 56 0O
(B=/FLLY ) ] 247 £R 12700 | B4 0.0.0.4 | F550.0.0.0 | 900m # B 0:56:5 37.3 | 900m & B 0:57:2 38.1| 900m % Z 0:57:3 38.1| 900m 4 # 0:57:1 38.1| 900m 4 7 0:58:9 38.9
14 977-h [#£]| 0009 |2 0005 [£40008 | -@om-®-@d| MMM 36.4 333 (3) | MMH 35.5 411 (9) | Mvm 36.5 222 (9) | MMM 36.1 321 (10) | MMM 37.1 142 (9
RESE 0.0.0.0 | 305020580 | £ 0.0.0.1 | %18 000 2 [ Yiut-hv(1.8) EE §AMIN -B.3) EHE [T W7 FB.0)  sEHEE [ JbyFin-b (2.5) Skl | 79/ 123 4) KER
OS1=57—& 53|12 T |/EF01.030 | F=01.026]18.10.13 13 & 1&'35 18.10.08 9 & f#& |18.09.17 10 ¥ fc® |18.08.31 15 & f&# |18.08.18 1] ¥ f{£&
T T & B 387-387 | #40.0.00 | F 0000 |C2—39 c2—-27 c2 | 3m—8f#f 3 | 3m—7# 3k | 3m—7# 3%
e 54.0 .179| fr 54-54 B4 0.0.0.0 | F=0.0.00 |4 858 3% 6A 8  90FE 3F OA 6 1088 5% TA 8  omE 8% 8A K4 |4 108EI0E TA K4t
7|8 VEPZ.& DD EI) T | LE R 12620 | /M4 0.0.0.0 | FIE0.0.0.1 | 384 -2 FgAE 54  @DO)| 386 0 JISHH 54 @B@® | 384 +1 FgAE 54 ©B® | 383 +2 )G 54 QOO | 381 +4 BAE 54 ©B6
(Zensational) B . 200( B 12620 | £40.0.0.8 [ F750.0.0.0 | 900m &4 B 0:56:6 36.4 | 1300m 4 B 1:27:8 39.3 | 1300m & B 1:27:1 39.5|1300m & F 1:27:6 40.2 | 1300m & B 1:26:9 40.1
RIS [#]]0.1.031 | %0007 [£4010% | -@®--©--| MM 37.1 255 (1) | HHH 38.4-36.9 231 (5) MHH 39.2-38.7 233 (3) [HMM 37.9-39.7 233 (6) | HHM 38.8-40.6 335 (2)
FER e 0.0.0.12 1105?:%0150 £3£0.000 |18 00019 29/1429(1.2) SeES [ b e -(6.3)  wkEE | Y 4199 (2.9) heE |-y 359 3.5  kESE [ Y755 (.3) Sk
XA aoR—5— 3|18 & O: EF0.0.0.2 | ¥=0.0.01 13 70.07 13 & biﬁ 78.09.29 16 3 #& |18.08.19 35 ¥ 2/\A8 |18.06.02 42 & 3Bkl
wA w TR—5— SHIR FH0.0.00 | F 0000 | FIJ—L 3m—12 3% | RESFI KESF | REFF RIEF
A 7 54.0 .196 #40.000 | F=0000 |4 958 4% 4A 7 938 3% 2A 15 1838 6&ITA 11 1838 4&I5A &
8|9 Aat| kv FHru—s - I:ES 8 1266 [ N4 0.0.0.0 | FM0.0.0.0 | 400 -5 AEE 54 @D | 405 +31 AEMKE 54 @D | 374 -18 FHE 51 @B | 392 #) HwK 52 OO
(FTREFF) B . 237| 4£E 1266 | A 0.0.0.1 | F720.0.0.0 | 900m 4 E 0:55:8 36.5| 1300m 4 % 1:26:6 41.4 | 1200m = R 1:09.9 35.3 | 1400m 3 B 1:22.4 35.3
T 045 [£]| 0004 |£0002 |[£40002 | @D - MH 35.5 233 (6) | HHH 38.2-39.3 231 (7) | HMM 33.0-35.4 144 (8) | MMM 34.5-35.1 233 (9)
HARPERE 0.0.0.0 | 05020580 | £ 0.0.0.2 | 428 0000 [ 5 445" -(1.9)  %%kE | 9 7-32(2.8) MK | Seb 9/10(1.5) Sk | Myapn (.00 kESE
— 94— 318 F o |[EZ0003 [ F=0002 |1810.08 13 & f&& |[1809.29 18 & fc& |18.09.17 17 ¥ {&& |18.07.21 33 ¥ 3m/ | 18.07.15 33 & 3FIm6
SAREH RY— s E=H0000 |F 0000|C2—31 2 R —L 3 | 3m—10 3| | REER REF | KT KT
7 54.0 .234 B4 0.0.0.0 | F=0.0.00 |4 1088 6% TA 5 1088 7% 8A 4 |5 838 5% 5A 12 1588 7&I15A 16 16E1IB 14N
8[10[ o [ L1 ok—n—x B | J@|# B 1241@ [ N4 0.0.0.0 | FrE0.0.0.1 | 453 -12 AEEE 54 DD® | 465 -8 REH 54 W | 473 +21 AEE 54 DOG | 452 -6 E5ME 54 G@® | 458 #) Bhfg 54  B®D
(FUFREFF) £% 237 KB 1241@ | 4 0.0.0.1 | FK0.0.0.0 | 1300m & B 1:24:1 37.7| 900m # % 0:55:8 35.7 | 1300m &# B 1:27:3 40.7 | 1800m & R 1:59.0 41.6 | 1400m & R 1:28.0 39.2
Em%E [#]| 0005 |2 0003 [£40005| -@9-®--|HiH 38.3-37.7 224 (2) | MMM 36.5 135 (2) | MHM 39.3-39.9 333 (3) | MMS 37.5-39.3 251 (10) [ MMM 34.8-37.7 112 (13)
HARE B 1 0.0.0.2 | #0502£0580 | £ 0.0.0.0 | 5238 0000 [ 5" »94¥4{(2.0) HESE | IINTFITFA.5)  FEEE | A A7) Sk | FEY-IHE3.8)  FkE [+ 9(3.5)
84— 1 1300miB 4 5 Ak (SEEHR : 2016.10. 25~2018, 10. 24) BHTE HER SHENE
|[:tod EHES HEES 1F 2% 3&F &S = e % %% 1 2 3 456 7 8
1 AL aIR—5— 139 25 15 16 83 0.180 0.288 3 (37%M=:E) 26 31 31 34 31 31 33 35
2 O—SXA v AA 80 19 8 13 40 0.238 0.338
3 AT TN 152 17 2 17 97 0.112 0.250 7 FHRSV T/ 2L RAIEG
4 —)L F7Ya— 79 13 10 5 51 0. 165 0.291 I3 B O#: 33.3H HKITHEST (534, 544) 3 sk
5 FLLY 123 13 9 9 92 0.106 0.179 _ tofE: 1308 IFHIEL (434, 445) 1 *
6 98 1 15 9 63 0.112 0.265 & @6 # F: 395H ELY (255, 355) 5 otk
7 72 11 10 5 46 0.153 0.292 D2@® B4 L 1:25.8 BULVAA (335,245) 1 *
8  EUFAOYY 52 1 8 330 0.212 0.365 e
9 BA4Fx b 56 1 6 3 36 0.196 0.304 ®
10 FHYITzR% 122 1 5 8 98 0.090 0.131 5 OO0

= . . N FiRZNY 2, HHORGERLL HERN, MTFLHERE, INTEEERTOHEREMAEL TRV,
2018%:10H27H 3R C2 -2 6/l Y57 Lw PR 3@l E Ea 1300m X —F « 4 AHU 5O, FERZHRCET.



